370, 0

F—:3TT[§+PUI3)57J,<+§%ZS*25[95‘]%@%% _—_ i
———— l l.,“,l_ = l?. l — l l — : i — o 370, 0
L NN P - — . T e - i I’m‘\\'-‘ TS X AR BN 345.0
: s [ 2 - FRE
LM T T X == ;ﬁ@%ﬁ%’fﬁ%mﬁﬂm}%‘ﬁﬁ : N ‘
R TR e Yo ik | — — L
) PTRRRICSGIRS ~ NEI SNSRI WA IRt N & 640.0
= | RS in Fi | | < | Ll | I
' KRR E GRS B ‘ wﬁﬁ I
2. ARE(FERL : EER e O || BT |
T | HH ) | hET Rl e i niiivi ¢z | 2]
" . N/NID T R N | T ’ —
. NV %+ & « ! /_,agﬁiﬁ% D5x33 "
) BEL -ﬂL- 85, 0 ,L 70 B0, bl o T S | s ; -
5] s v PR g
. i 5 o T T Pé‘iﬂl ™~
‘g S N E q = ;‘/u"; él\ =
"_’: — I’Tfi&’i o A ~— 35 36 5 955 E\.. O\E: ol o i
5 ,FMWE i i _mﬂ%a félsﬁjo*@#@ﬁlﬁ EEST | I _*_ A f b
| = ) 1F.L 723 s Fl| o
:. rIj A} _~ ’4‘ a ~§‘ N f:‘t “_“‘;LD ) ?. :’:-:LEO,‘T_ 1 :4:- : ;-4; j[,; _ﬂ:‘ - g ‘z- 3(98 e; 9 ‘k N L | o — i | E
N e K3 4,2 Y :\‘_‘;_" . ﬁ'l'O' 2 S © :‘ 4__ - . cd': — ?jmg
S ' 00 > e | C T s
| welseEL ° _ - = —— =
3000psi/T=30CM = = Tr AN FA A FAS kS 345.0
. | R I I
—— 2000psijE&E 1 =
<.
[ap]
30,0, 400 300
T 0po”
n AN J.“, - a A J‘_\I —
Gt B3 @2 B 1T ()5 Bl 3 & 3 1B 2F
F?-E— 74,\-’ 51’;_{‘- é':ﬁ g%}%}ﬁﬁ_ s 2% = P !E 2 > _ ié T f2 44 KRB ER%E wAs R 130 .
L SR - 2L 2 5 5% Ad-3
ﬁf%f?;’ffﬁﬂé/ﬁ%’¥“347%~11%1¥;§ 23[3 #T itb @ /{I < '/.‘% axX ‘;]‘ #ﬂ( 5] 5% 4 4% | 750 3] & 3E E Faocn
G103 00555 TR0 925449 N2 ZERYE (RILEHE %43E-01-BA) e 2 g g B A3 ?Fﬁ?ﬁ@
E F1% 45 : cch. arch@msa. hinet. net IS AR L )




